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1. Assertion (A) :
" The less able a child is to do a task the more directions the teachers should give and as the child can
do more and more the teacher should help less and less.

Reason (R) :

Intelligence cannot be accurately measured by calculating 1Q.

Choose the correct option.

(1) Both (A) and (R) are false.

 (2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3 Both (A) and (R) are true but (R) is not the correct explanation of (A).

~ (4) (A) is true but (R) is false.
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